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RO s | wAn [PEERE] s | A [MFEERE] e g | MERAK
13 F 96.8 — A 3.2 98.7 — A13 105.7) — 5.7
14 £F 100.0 — 3.3 106.4 — 1.8 1028 — A 27
15 £F 107.1 — 7.1 113.7 — 6.9 926 — A 9.9

15% 5 A 104.7 A 0.6 1.3 112.2 A 13 1.0 93.3 1.5 A 10.6
6 A 110.2 5.3 8.7 115.8 3.2 9.8 96.9 3.9 A 70

7 A 103.4 A 6.2 0.1 112.2 A 3.1 1.3 911 A 6.0 A 10.6

8 A 104.1 0.7 A 08 107.4 A 43 A 24 90.7] A 04 A 10.0

9 A 110.0 5.7 6.1 115.4 14 4.8 904 A 03 A 8.6

10 H 118.8 8.0 15.6 124.3 1.7 12.3 92.0 1.8 A 49

11 H 1141 A 40 11.4 118.6 A 46 5.5 98.0 6.5 3.0

12 H 107.7 A 56 7.1 115.1 A 3.0 8.5 945| A 36 1.5

165 1 A 107.0 A 0.6 9.4 115.1 0.0 8.9 889 A9 A 3.9
2 B 107.8 0.7 6.1 114.2 A 08 4.0 89.9 1.1 1.1

3 A 115.2 6.9 11.0 124.7 9.2 13.8 88.7] A 13 A28

4 B 116.1 0.8 10.3 125.3 0.5 10.2 92.7 45 0.9

5 A 114.6 A 13 8.6 124.9 A 03 9.0 92.8 0.1 A 05

6 A 115.3 0.6 5.3 121.1 A 3.0 54 94.9 2.3 A 20

7 A 112.4 A 25 8.0 125.0 3.2 10.5 91.9] A 32 0.9

8 A 110.2 A 20 6.5 115.0 A 8.0 1.9 95.0 3.4 4.7

9 A 110.0 A 0.2 0.0 118.6 3.1 2.1 882 A 72 A 25

10 H 116.7 6.1 A 29 123.8 44 A 20 96.2 9.1 4.5

11 H 114.3 A 21 1.4 124.1 0.2 6.2 96.6 04 A 15

12 H 108.4 A 52 0.6 114.9 A T4 A 0.2 953] A 13 0.9

17% 1 A 108.2 A 0.2 0.7 117.9 2.6 2.3 883 A 73 A 0.6
2 B 118.5 9.5 6.5 12141 2.1 2.9 97.0 9.9 1.9

3 A 124.7 5.2 8.3 129.2 6.7 3.6 96.6] A 04 8.9

4 B 122.9 A 14 5.1 127.7 A 1.2 1.2 102.0 5.6 10.0

5 A 112.0 A 8.9 A 1.7 121.8 A 4.6 A 1.7 98.7] A 3.2 6.3
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